TRANSMED system installation
on the “Niolon”

Date: 27 june 2011
Version 0.1

Contacts: cell

Isabelle TAUPIER-LETAGE, itaupier (at) ifremer.fr +33 494 304 913 (Chief scientist )
Gilles ROUGIER, grougier(at)ifremer.fr, +33 494 304 951 (Engineer/TS)

Karim BERNARDET bernardet(at)dt.insu.cnrs.fr +33 494 304 464(Engineer/Network)

&

CENTRE
D'OCEANOLOGIE
DE MARSEILLE

— Division Technique UPS 855 = T = | UNIVERSITE DE LAMEDITERRANEE

i .
27/06/2011 Institut National des Sciences de I'Univers 13nsmed ,5_4(‘{” | SEHBRIEL N l !L'J J I']

depasser ks monheres




TRANSMED system installation on the

“Niolon”

The TRANSMED system aims at measuring the surface (few meters
below) seawater temperature and salinity autonomously and
continuously while the ship is underway. Data are acquired ~every
15 seconds and averaged over ~1 minute. The 1-minute data are
stored with the corresponding latitude and longitude information.
Data are transmitted to data centers ashore within a few days
(optimally in near-real time).

A first temperature probe (T) is located as close to the water intake
as possible to avoid modifying the seawater temperature. The
seawater is pumped (P) from a crossover pipe and feeds the
thermosalinograph (TS). The water is then discharged. A power
supply chest (PWR) and a PC make the system run autonomously. T
and TS data transmitted to the PC using the ship’s Ethernet
network.

Navigation data originate from our GPS, and are sent to PC via a
RJ45 category 5 cable. TS data are transmitted ashore using the
ship’s Ethernet network and mailing facility (TBD)



SChematiC Operating diagram Na\gg:tlon
=Sh|p_ 220\/ : ........................... (GPS) ...............

.
.
.........

~

*
*

< Automated

: data transmission :

L

(navigation+ T S)::

g

.

—» PWR+Data "

—  PWR : Provided by Transmed

—> Data . _ -

E=) Seawater circuit “.....  Ship specific (TBD)
27/06/2011 Transmed



g
0
0
I
.
.

-

*
Q

Plumbi ng In red: elements provided by TRANSMED

L LLEEN

discharge

V3 - Gate valve v(tov;re:/ent return flow to TS and allow isolating TRANSMED circuit) TS WOFkS CcoO nt' HUOUS|y Wh | |e u nderway

W13 - Output from valve V3
W14 - To discharge. Must be as close to the main discharge as possible (~0 pressure)

WS - Input to valve V2
V2 — gate valve (for maintenance purposes)

W9 - Output from valve V2

W9-W10 —~0.50-1m 1" flexible hose (will be disconnected for maintenance)
w10 -1”

TS —Thermosalinograph in a chest (includes additional circuit)

wi1i-1"

W11- W12 - ~0.50-1m 1" flexible hose (will be disconnected for maintenance)

w14 W13 W12 w1 Note: TS must be by-passed
k for installation/maintenance

V3 T Recommended flow rate: 0.6 -1.8 I/min
Operating pressure: < 3bars

W7 W8 —W9 W10 . . .
e \ >E NB: TS will not be provided in a chest

Seawater

.
.
-
=
]
U
g

g

w

due to space availability

W5
V2 W1 - Intake in crossover pipe to feed TRANSMED circuit

W2 - Input to valve V1
T V1 - Valve (to allow isolating TRANSMED circuit)
W3 - Output from valve V1
w4 W4 - pipe, galvanized steel, 1" NPTx12", Nipple M-M, 304 SS, SCH40
T -Temperature sensor: 2 pipes (W4 and W5) + plenum
w3 WS5 - pipe, galvanized steel, 1" NPTx12", Nipple M-M, 304 SS, SCH40
V1 W6 - Input to pump, DNa 1"
P - Pump, bronze, DNa 1" DNm 1" (NB: pump has a check-valve)
W?7 - Oytput from pump, DNm 1”

w2

BELLLETN
o -
* *

Seawater
inlet

Q
* R
.

: : w1 Crossover pipe

*
-
Taguss®

TS Thermosalinograph V1-V3 gate Valves

27/06/2011 T Temperature Transmed SeaWater circuit W1-W14 4
/06/ Purep —



8

TEM| PART [DRAWING

Mo | e MO DESCRIPTION GITY.
1 [231580] 21441 SBE38 Temperature Plenum 1
2 |ZITEEI[ ZT1&42 SBE3E Termperafure Flenum Fefainer T
3 [ZSIEEI[ ZTEES SBE3E Femofe Temperafure Flug T
4 | 30254 A Washer, 1/4 5plit Ring Lock, 55 2
5 [30570 H/A Washer, 1/4"Flat, P40C414. 53 2
6 |3080%7 | 210180 Morrison Seal 047 1D x 41 0 Mitrile 1
7 131001 MA Bolf, 1/4-20x 1 3/8 Hex Hd_ 35 2
8 [31243 /A Pipe, 1"HPT x 127, Hipple M-M, 304 55, 5CH40 | 2

FEVEION CESCRIFTION

LTy fata il Cairesitid 1o Solkdwiiks CB P CB

All parts provided
(with the dummy plug
(3)) aslong asthe T
sensor is not
installed

URLESS DHMTWES PR
CealnZaCenll ART I IS

wan | e

SEA-BIRD ELE?TEOP&LC&INC

o s et | PC (1D TO/OH 1EE- 1368 PLACE NE BE

EACTOHALL | I AT5 A G

ARGILAE: £3 MDD E e

P Pt ittt 3BE 38 Ecdemal Temp Perum Mourd Asemibhy
[t

DM, HE. AT
R ERTRICTIC P FART AL A WL P||IN:

IS pemmmemee 50244
M"'th ™ penum amo meEax 3 HO l oEy
SHARF EDGES
il Old Pad/Drawe Infa | B i 6?[}?] 01
[T Tl L TS S TA SCALE G | SHEET 1 CF 1

27/06/2011

Transmed




W4 W5: pipe, galvanized steel, 1" NPTx12",

Nipple M-M, 304 SS, SCH40
W5

prON!

W4

27/06/2011

[TEM[ PART |DRAWING :

NOL| MO, NO. DESCRIPTION QITY.
1 [231580] 215841 SBE3B Temperature Plenum [
2 [231581] 21642 SBE38 Temperature Plenum Retainer [
4 [231582] 21843 SBE38 Femofe Temperaiure Flug 1
4 | 30254 MSA Washer, 1/4 Splif Ring Lock, 55 2
5 [30570] N/A Washer, 1/4" Flaf, 960C4186, S5 _ 2
& | 30807 [ 210180 Mormison Seal 047 1D x .41 OD Nitrile [
F 131001 MY A Bolt, 1/4-20x 1 3/8 Hex Hd, 535 2
8 [312&83 MSA Pipe, 1" NPT x 127, Nipple M-M, 304 55, SCTH40 2

> — ST T—
©
o o &
. //‘ ’
S
s @i/ -

RO
N o

Y =

nce (connector)

Transmed

7/
Since T is removed a plug is provided




MicroTSG (Thermosalinograph) TS SBE 45

SPECIFICATIONS 216 Dimensions in
_ (8.5) millimeters
Measurement Range 3/8 in. U.S. standard (inches)
Conductivity: 0-7 S/im (0-70 mS/cm) NPT threads with : B
Temperature *: 510 35°C nylon hose'barb ]
Initial Accuracy : : B
Conductivity: 0.0003 S/m (0.003 mS/cm) rﬁ'g%;o{lfé?cg:}'/ 152 _‘
Temperature *: 0.002 °C
Salinity: 0.005 PSU, typical 6.2 (6.0)
Typical Stability (per month) "3 bj—— 1o
Conductivity: 0.0003 S/m (0.003 mS/cm) ' " A
Temperature *: 0.0002 °C Connector
Salinity- 0.003 PSU. typical (MCBH4SS)
Resolution @ g
Conductivity: 0.00001 S/m (0.0001 mS/cm) ouT o T
Temperature *: 0.0001 °C 6.35 mm
Salinity- 0.0002 PSU. typical 338 (1/4 in.) 136
Calibration Range (13.3) mount hole (5.4)
Conductivity: 0-6 S/m (60 mS/cm); physical (typical) _‘_
calibration 2.6-6 S/m (26-60 mS/cm), IN o o
plus zero conductivity (air) 101
Temperature *: +1t0 +32°C - = (4.0)
Time Resolution 1 second e
Clock Stability 13 seconds/month B = = —8.9
Input Power 8-30 VDC 135 __| ('Ij 35)
Acquisition Current 34 mA at 8 VDC:; 30 mA at 12-30 VDC (5.3) '
Quiescent Current 10 microamps
Acquisition Rate 1 Hz maximum
Operating Pressure 34 5 decibars (50 psi) maximum Pin Signal
Flow Rate 10 to 30 ml/sec (0.16 to 0.48 gal/min) For ; g‘;g’gg”m from computer
_ g orientation 3 RS-232 TX to computer
Weight 4.6 kg (10.2 Ibs) 4 External power in
(8 - 30 VDC)

* For specifications for optional SBE 38 remote temperature sensor,

EEEEEEE The water supply to TS must not have bubbles
TS must not empty (even when stopped during calls)

27/06/2011



Pump (1/2):

Gianneschi (http://www.gianneschi.net )

n A c B mn
Model: ACBOOE
SELF-PRIMING MOTOR PUMPS
"ACB" SERIES
With liquid ring
APPLICAZIONI: ) @ |

Esaurimento sentina,lavaggio catene,antincendio,travaso
gasolio,alimentazione impianti, ecc

COSTRUZIONE: ) @ |

Corpo Pomipa: & veedd sik a5 v0eel an v s BRONZO

BIARR: su wvmn e MovaREmE o LEGA SPECIALE DI OTTONE

BIBETDE sesonnne who, samon i et ACCIAIO INOX AlSI 316

Tenuta meccanica:DI ALTA QUALITA IN CERAMICA, GRAFITE INOX

CORRENTE ALTERNATA - ALTERNATING CURRENT MOTORI: ] @& )

45 | Isclamento: . ... ... Classe "F"
40 “""--_\ ACBSOE Protezioni: ............ "IP 22"per C.C. ; "IP 44/55"per C.A.
N \oltaggi: .. . V12;24 C.C.; V.230M ; 230/400T C.A. 50 Hz

30\\\

g 25 | ACBBOE

GARANZIA: ) _ @& )

Un anno (vedi condizioni generali di vendita)

GENERALITA:
\\ ACBS0 MDE Le el/pompe autoadescanti serie "ACB", ad anello liquido con
10 [ \ T T girante stellare, hanno una eccezionale capacita di autoaspira-
5 AQB&QE| \ zione (fino a 9 m). Solo al primo avviamento, o dopo un lungo

periodo di inutilizzo, si rende necessario il riempimento del corpo
pompa, poi, si adescano automaticamente anche con il tubo di
aspirazione vuoto. Si consiglia di installare sulla bocca di aspira-
Q l/min zione un filtro ed una valvola a clapet.

27/06/2011 Transmed 8

0 10 20 30 40 a0 &0



Pump 2/2: W6 - W7: bronze, 1”

EL/POMPA POTENZA ASS. VOLTAGGIO GIRI/1’ PORTATA |/min DELIVERY I/min
EL/PUMP POWER ABS, VOLTAGE RPM 2 | 6| 10]16] 2| 25] 30| 40| 50 | 60
PORTATA m3/h DELIVERY m3/h
012|036 06 |096] 12| 15| 18| 24| 3 | 36
kw A v PREVALENZA TOTALE mH,0 TOTAL MANOMETRIC HEAD mH»O
ACB90E 0.45 i 230M+230/400T 2900 |42 | 41373430 |25 17] 4|

f
b A
— ETP n
m ]
] &
il el o T NeTE
| '
h— — il %
——
- —
c | m_| o
|
DNa 1" W7: DNm 1"
ELETTROPOMPA, f h hi | a b m n C DNa DNm Kg
EL/PUMP
ACBA0E c.a-a.c. 32 142 183 175 26 a5 g0 112 154 1 1" 14

27/06/2011 Transmed 9




DimenSionS Engine room / TS

. 21 6 Dimensions in
Engine room /PWR chest } | millimeters

8.5 ‘ (inches)

3/8in. U.S. standard
. NPT threads, with o 0
Front Side nylon hose barb mll | o )]3
fitting for 3/8 in./
300 mm 200 mm tubing (typical) | 1s2 |
- . - (6.0)
« > — 762
(3.0) /O
———a Connector
(MCBH45S)
& © i)

PWR € PWR oUT | —»|, o

= S 6.35 mm T
o

15Kg Al 338 (1/4 in.) 136
(13.3) mount hole TS (5.4)
(typical)N _}7

IN o o
© o] 101
“—> (4.0

4 e — }___%9
— {E;’) — (0.35)
PWR: ~15kg

Pump : 12kg (see slide 9)
T: ~2kg
TS: ~5kg

A

> Clearance !! (TBD)

Transmed

Chest

27/06/2011

Engine room /T
A

A

Allow clearance
(at least 10gm)

—

44 45 mm
(1.751n)
gz | T
ODO
?2?!'13{? mﬂ @@ O]
| QDO
| 39.12mm |
(1.54in.)

I

A
o
(s}
W

(

T
o =
/ (.

e c—

Length after assembly: ~ 62 cm

10



Network (To be updated!)

ATOP = convertisseur série [ IP

GP5
COM1} 4800
192 168.100.X Data to transmit

e ATOP (TBD) <200kb/day

Réseau local du navire
pump — WebRelay mEmmEEE. LEL LR R [

switch cale NTRON switch en sallle switch psserelle\ Routeur
192 168 100X controle machines modem 3G

ATOP 192.168.100.X
192.168.100.X
SBE 45 SBE3S
COM1, 9600 COM2, 9600

MISE A JOUR 27/08/2011



